= o
A & 0l & AF 2 E A A
20169 = S0la LB 3F M
SN BZFYY
FM: AL6tD MPAQJE= NASIATLH(BEES/A
& Jess830gtxd (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S22 20,460,299 35,433,516 214,973,217
= 14,623,863
Xl 1,020,000
< 4,816,436
2ot MYSEJUE NHESFAX L (BEES/KA) 3,467,737 8,990,680 A5,522,943
= 1,380,000
X 370,000
< 1,717,737
JdEssg3glexry 553,357 2,019,350 A 1,465,993
= 200,000
< 353,357
BZMEgnsZz=2 a2 42,857 42,850 7
= 30,000
< 12,857
307 21201 A 42,857 42,850 7
= 30,000
< 12,857
02 B AAHEX 42,857 42,850 7
OstZaNEgusoz 18X 42,857
= 30,000
< 12,857
d2FdaA2E4ds A& 200,000 200,000 0
307 gl2tol & 200,000 200,000 0
02 IZHEHAHE L 110,000 200,000 A 90,000
OHBIGEA2ANE L3S 110,000
03 QIZtHNHE2IHIEE 90,000 0 90,000
O3SZE21243 & 29| 90,000
SMIAXME EX2F A 200,000 200,000 0
= 100,000
< 100,000
307 21201 A 200,000 200,000 0
= 100,000
< 100,000
05 BIZERIE 3 200,000 200,000 0
O=sMIAMXLUE 2SALY 200,000
= 100,000
< 100,000
BZRatszz0d 29 70,000 0 70,000
= 70,000
308 X EHSOIA 70,000 0 70,000
= 70,000
01 HIXNHHBNEES 70,000 0 70,000
Otz stz 29 70,000,000 70,000
= 70,000
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#2H 20
AYED MIHYE NHABAXZL (B /T
BEEELEPIETE

e

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SZEMALL X 30,500 30,500 0
201 £B-2d| 24,500 24,500 0
01 At 22l 24,500 24,500 0
Oget==EH| 24,500
- LEHF &= H| 24,500
203 ¥ S =&l 6,000 6,000 0
03 Al =AY 2= 6,000 6,000 0
OsAFMIYAL X 3,000
OSZZHYLEHIZANEE GR2FA 3,000
BZo g A XA 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
O=td o & dA XI& 10,000
At E2H0IS AL 1,591,000 5,823,000 A 4,232,000
= 650,000
Xl 370,000
< 571,000
MEISAZTLE ALY 130,000 3,723,000 23,593,000
Xl 100,000
< 30,000
403 A X EHHS =0l A 130,000 3,723,000 23,593,000
Xl 100,000
< 30,000
01 X SHHX2E= 130,000 3,723,000 23,593,000
O=2d HMHISJ ZdAY 130,000
Xl 100,000
< 30,000
MEEEZE ZAAY 900,000 1,800,000 900,000
= 600,000
< 300,000
403 MHXSHHSA=0l& 900,000 1,800,000 900,000
= 600,000
< 300,000
01 HXSHMA2E X 900,000 1,800,000 900,000
O & MHEZLZ LAY 900,000
= 600,000
= 300,000
Hela S LA (US) 100,000 300,000 A200,000
403 MHXISHHE X201 E 100,000 300,000 A 200,000
01 XM A=2EE 100,000 300,000 200,000
Oxeclat g ZLAE(US) 100,000
MEIS0lE =&EAY 396,000 0 396,000
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FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
e NHEIEH0SAE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 270,000
= 126,000
403 X SHHS =0l & 396,000 0 396,000
X 270,000
= 126,000
01 XM A2E X 396,000 0 396,000
OMEHE=0IE Z4AY 396,000
Xl 270,000
< 126,000
ME 22U =EY 65,000 0 65,000
= 50,000
< 15,000
308 XtXIEHH SOl A 65,000 0 65,000
= 50,000
< 15,000
01 X HHILEES 65,000 0 65,000
OME 22N =H 65,000
= 50,000
< 15,000
NSt TLMEFHE D 39,980 64,980 225,000
NHAESH2H 36,980 36,980 0
201 Let24d] 35,080 35,080 0
01 At 22/ 840 840 0
Om =t 840
- NHESH NEHERE 140,000 6 & 840
02 =24l 34,240 34,240 0
O=323<LHA 5,240
-3 Haldl 2,500,000& 2= 5,000
-&IIR3 20,000& «x12& 240
OAE ZHI S X 3,000
—dEZ2cs RA2 3,000
OXt& & Bl 26,000
- dEr RS 13,000, 000& 2 26,000
202 4l 1,900 1,900 0
01 = LHA YI 1,900 1,900 0
O=U o di 1,900
-NHESsSHd 2% 0l 1,900
NHBSSH HIUHs A 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
ONHEsSsd d=a &4 3,000
OMEASES UL 1,283,400 1,083,350 200,050
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M LS D MYAYS NABBTL(BILS /N
Sl OFMESASE5Y R CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 530,000
& 753,400
OrM == IloHo e Ar 364,000 364,000 0
= 280,000
&< 84,000
403 XX SHHS K20 & 364,000 364,000 0
= 280,000
== 84,000
01 AIXISHHMAEZ2E X 364,000 364,000 0
OO0 =2 Dol A 364,000
= 280,000
o=} 84,000
OS2 IolEa XS 129,890 129,890 0
308 ANXISHMSOIA 129,890 129,890 0
01 HXHHBIMNEXS 129,890 129,890 0
O0M=s2 T4 X 129,890
OS2 Oloet X et X 142,110 142,060 50
308 MXISHMSOIA 142,110 142,060 50
01 X HHIMNEEXTZ 142,110 142,060 50
OOtMES=E HoHEXt X3 142,110
OfMSZ2RXMH 89 L AMNEdSE N 600,000 400,000 200,000
= 220,000
= 380,000
308 XAHXIEH SOl A 400,000 0 400,000
= 120,000
o= 280,000
10 B2 SHHSHE A A HEH A H 400,000 0 400,000
OtMs=sHdH 29 & 400,000
= 120,000
o=} 280,000
403 XX SHHS K20l & 200,000 400,000 A 200,000
= 100,000
& 100,000
02 2| 2SOUest A== & AFE Y 200,000 400,000 A 200,000
O0tMEs=24dH ANEsSE NS 200,000
= 100,000
= 100,000
OfMsSAE ESE=E 3,400 3,400 0
201 et d| 1,400 1,400 0
01 AP 22| H| 1,400 1,400 0
OF=1=1:] 1,400
-MESAE E5Es 1,400
202 044 2,000 2,000 0




SN BAZHDY
HE: AYSD MYAAS NABATH(FBRS/N )
Sl opMSASEsY R (B9 ®R)
4 14
2N -3 -2 (SH) - NHEMY - BES Off &F o4 %l‘&ﬁ Hns2
01 2Lh oIt 2,000 2,000 0
OOMSASESES Ot 2,000
HATIS 2702 X2 44,000 44,000 0
2 30,000
= 14,000
308 XHXI €A S0/ ™ 44,000 44,000 0
2 30,000
= 14,000
0 HXSHIAEES 44,000 44,000 0
OMATIS S&IIZ K& A 44,000
2 30,000
= 14,000
WRETIISE L NS5 9,984,760 6,318,317 3,666,443
2 7,636,863
Py 650,000
= 1,697,897
BRI R 6,546,550 5,645,800 900,750
2 4,323,250
Py 650,000
< 1,573,300
ES=MEITALMETR(HS) 100,000 100,000 0
307 £I2+0I & 100,000 100,000 0
02 Bl FAAYEE 100,000 100,000 0
OES=MBANANEHS S (HS) 100,000
HOIARY DY 156,000 439,400 283,400
2 120,000
= 36,000
403 X SHHI S XH2 01 & 156,000 439,400 283,400
2 120,000
= 36,000
01 RHXISHH A= 25 156,000 439,400 283,400
ORHSIAHA BBAY 156,000
2 120,000
= 36,000
N2 HAARSASE 2AJA NEALE X2 109,000 99,000 10,000
2 109,000
308 XHXIEHH SO/ ™ 109,000 99,000 10,000
2 109,000
B ELEREES] 109,000 99,000 10,000
ONZ HIANYRSAYE SAIATE s
e 109,000
2 109,000
SBATOEH 2 185,000 150,000 35,000
2 185,000




2N
X ZH -
L= B

el

o

"B oM
e o 0
0 0H J2

rz Jor
=

=]

o
=2
~

o

»

RS
4
1o
i
ton
=
02

i

SA - BB B () - MM - BES Ol &t o San HmEET

308 X EHSOIA 185,000 150,000 35,000
= 185,000

01 HIXNHHNBMNEES 185,000 150,000 35,000
OEHAZAEN 29 185,000
= 185,000

Sa0lg MsAHU XA 274,800 352,800 278,000
= 229,000
< 45,800

403 UtXISHH S X201 & 274,800 352,800 AT78,000
= 229,000
< 45,800

01 X SHHX2E = 274,800 352,800 278,000
Os2JgY MsAHU AXAY 274,800
= 229,000
< 45,800

HIATS2ASEE 240tA M8 X3 102,000 102,000 0
= 51,000
< 51,000

307 21201 A 102,000 102,000 0
= 51,000
= 51,000

02 QIHHMAA B 102,000 102,000 0
OHMYRSAYY 2404 FoASY X 102,000
= 51,000
< 51,000

SdTiol 2HUM(HS) 10,000 10,000 0

308 XX EHSOIA 10,000 10,000 0

01 HIXNSHHBNEES 10,000 10,000 0
OS¢ 2HMU(HE) 10,000

SdIOIE HMalAY 3,712,800 3,931,200 A 218,400
= 2,856,000
< 856,800

308 XXIEHHSOIA 3,712,800 3,931,200 A 218,400
= 2,856,000
< 856,800

01 AXHHILEES 3,712,800 3,931,200 A 218,400
O£dIOIE MelArd 3,712,800
= 2,856,000
< 856,800

HIINsSA ES A 228,000 75,000 153,000
= 228,000

403 MHXISHHSA=0l& 228,000 75,000 153,000
= 228,000

01 X ESHHMA=2LE L 228,000 75,000 153,000
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M HREZBIN=E L X720y
S HIg3NdHBF (cho &)
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O&EIIXESX ESALY 228,000
= 228,000
HITSA SHAE 2= A 76,000 35,000 41,000
= 76,000
403 MtXISHHE X201 E 76,000 35,000 41,000
= 76,000
01 XM A2 X 76,000 35,000 41,000
O&IIXSA SHAE 2SAEY 76,000
= 76,000
HII0IEX BESAtY 21,250 0 21,250
= 21,250
403 A X EHS =0l A 21,250 0 21,250
= 21,250
01 X HHMA=E L 21,250 0 21,250
OdEIIOIEX ESAL 21,250
= 21,250
JI=ds nsHdH 29 76,000 70,000 6,000
= 38,000
< 38,000
307 glz2tol & 76,000 70,000 6,000
= 38,000
< 38,000
02 RIZFE MM E X 76,000 70,000 6,000
OJI&H¥s WsHdH 2Y 76,000
= 38,000
< 38,000
BZIIZANE EBEASEHAY 170,000 267,000 A 97,000
= 170,000
403 MRS E X201 E 170,000 267,000 A 97,000
= 170,000
01 XM A=2EE 170,000 267,000 A 97,000
OEIZANE BLASEAY 170,000
= 170,000
oIasdy 25 238t 110,000 0 110,000
403 Ut S E X201 & 110,000 0 110,000
01 X SHHX2E= 110,000 0 110,000
OMIIE=dEYL 4X 110,000
CEMHAMAHT M2AS (2 AHX K HX) 240,000 0 240,000
=2 240,000
403 UHXSHHSA=0l& 240,000 0 240,000
=2 240,000
01 HXSHMA=E X 240,000 0 240,000




SN BFIBDY
M HREZBIN=E L X720y
S HIg3NdHBF (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZZHI AR M2AMS (=281 &SH X M A X
2) 240,000,000 240,000
= 240,000
MHEHI 2E=SK ZEAY 845,000 0 845,000
Xl 650,000
< 195,000
403 UHXSHHSA=0l& 845,000 0 845,000
Xl 650,000
< 195,000
01 HXSHMA=E X 845,000 0 845,000
OdgE 2AE=T ZEMY 845,000
—EF QEUSHAAER 2F=sK ZEAS 325,000
X 250,000
< 75,000
— ot CHAIAHER 2 =sX ZAALY 520,000
Xl 400,000
< 120,000
JIEHSS L ABYN LMY g 130,000 0 130,000
207 Ao H] 130,000 0 130,000
01 289 130,000 0 130,000
OJISHEHS ¥ AN LHHE 28 o
—EA 130,000
SE2EAML SEMEARY 700 1,400 A 700
201 ¢er24l 700 1,400 A 700
01 At 22l 700 1,400 AT700
O= &l 700
~BAYAND SEAHHA 2Y
7,000 »2H x50 700
HEHAXNEE A 23t 3,438,210 672,517 2,765,693
= 3,313,613
< 124,597
==NSSEIII X224 N3 88,370 90,077 A 1,707
= 58,913
= 29,457
307 glz2+ol & 88,370 90,077 A 1,707
= 58,913
< 29,457
02 It A AMHEE 88,370 90,077 A1,707
O=z5sXhss8I|1)| £&X=2gHI XN & 88,370
= 58,913
< 29,457
BHELA2II=XE 45,000 45,000 0
307 21201 A 45,000 45,000 0
02 LAFAAFEX 45,000 45,000 0
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M HREZBIN=E L X720y
chel: HEgAXNEEE 23 (&)
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Otizters HEUII &FXAO0I
50,0003 x5 x40 10,000
S HoI2c A MHEHX 25 HFAE XA 3,250,000 500,000 2,750,000
= 3,250,000
403 A X EHHSH20IA 3,250,000 500,000 2,750,000
= 3,250,000
01 XM A=E L 3,250,000 500,000 2,750,000
OF=F Hoit2cla M4FHI 25 NJAE &
XA 3,250,000
= 3,250,000
Aol ZEeot & HIIES 2B 6,923,346 20,046,763 A13,123,417
= 5,607,000
< 1,316,346
=& Hols2el 928,246 1,056,596 A 128,350
= 412,000
< 516,246
SAEIE =HEA(US) 76,246 76,246 0
308 XXIEHHSOIA 76,246 0 76,246
10 SII 2SO CHetZ & = O & A& I 76,246 0 76,246
SAEISEHEA(UHI) 76,246
SZHHE =H24 579,000 579,000 0
= 193,000
< 386,000
308 XM SOIH 579,000 579,000 0
= 193,000
< 386,000
01 HXNHHBHELS 579,000 579,000 0
Os=sZHtble =AHA24 579,000
= 193,000
< 386,000
ot&E Gt HStALY 155,000 160,000 25,000
= 155,000
403 X SHHE X0l & 155,000 160,000 A5,000
= 155,000
01 XM A2E X 155,000 160,000 A5,000
Oot&Eot= EatArY 155,000
= 155,000
SAPHSHE XK AY 30,000 38,850 A 8,850
403 MHXISHE =01 30,000 38,850 A 8,850
01 X SHHA2E = 30,000 38,850 A 8,850
Os2deIE=NE EXXNE A 30,000
HIlZ2 =& - 28 HEHHE dda NS AHE 17,500 0 17,500
= 17,500
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403 UHXSHHSA=0l& 17,500 0 17,500
= 17,500

01 HXHMA=LE X 17,500 0 17,500

OHII==d - 2 M a3 XIS A

o(=aZ) 17,500
= 17,500

=25 otdot? ZEtAY 22,000 22,000 0

308 MtXIEHSOIH 22,000 22,000 0

07 IXNHHAR S = 22,000 22,000 0
O2d=9 otdot+ HatAr 22,000

st=2HII=E 3 A3l 2,000 2,000 0

201 L2l 2,000 2,000 0

02 =224l 2,000 2,000 0
Ost=HIISEal A3l 2,000

MUY SsTotE s AY 46,500 139,500 293,000
= 46,500

403 UtXISHE X201 & 46,500 139,500 A 93,000
= 46,500

01 AXSHMA2EER 46,500 139,500 293,000
OZsHHE 2s&otd 3AY 46,500
= 46,500

HIISHM2AE &= 5,995,100 18,990, 167 A 12,995,067
= 5,195,000
< 800, 100

F=A 29X HEgE SEMZ 1,914,833 820,167 1,094,666
= 1,552,000
= 362,833

403 A XM S =0l A 1,914,833 820, 167 1,094,666
= 1,552,000
< 362,833

01 X SHHA2E= 1,914,833 820,167 1,094,666
OHFA Z2IMY D MHEE M 1,914,833
= 1,552,000
< 362,833

SE HIMOHE X ZH A 519,000 519,000 0
= 519,000

403 UHXSHHS =0l & 519,000 519,000 0
= 519,000

01 HXSHMA=E X 519,000 519,000 0
OZZHIAMHE X BHIAY 519,000
= 519,000

HMEMYIIHSE SEAMS 1,694,600 185,000 1,509,600
= 1,374,000




SN ERFYDY
mm: qEo Ho QN

G- BOIZHeIN 55 (25 @R)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
=] 320,600
403 XX S M S X201 A 1,694,600 185,000 1,509,600
= 1,374,000
= 320,600
01 MXHAMAHEBE = 1,694,600 185,000 1,509,600
OMEMHIINEE SEALY 1,694,600
= 1,374,000
o= 320,600
HE M2 X =HAS 616,667 0 616,667
= 500,000
& 116,667
403 XX S M S K201 A 616,667 0 616,667
= 500,000
o= 116,667
01 AIXISHM A28 X 616,667 0 616,667
O3 F H20EX =AAS 616,667
= 500,000
= 116,667
HEAN HEBEHNEUXNE2 =4 1,250,000 0 1,250,000
= 1,250,000
403 XX S S K201 A 1,250,000 0 1,250,000
= 1,250,000
01 HXHNMAHEE = 1,250,000 0 1,250,000
O&EFA dEEUHUHXNES ZEAY 1,250,000
= 1,250,000
HESHALH (BFAF M) 84,456 77,756 6,700
Jl=23tl 84,456 77,756 6,700
JlE23Hl 84,456 77,756 6,700
201 Bt A | 24,836 24,836 0
01 At 22/ 24,836 24,836 0
OP[EE =] 10,136
SBIEEET 14,700
202 04| 52,920 52,920 0
01 2L Y] 52,920 52,920 0
OJl20 byl 52,920
405 Ko SHI 6,700 0 6,700
01 M =S FSHI 6,700 0 6,700
O= A 6,000,000 1CH 6,000
Od&n 700,000+ 1CH 700




